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My friend and 1 a walk together yesterday.

A. takes B. took

C. take D. are taking

The problem is difficult for us solve.

A. so; that B. too; to

C. too; for D. enough; to

My ruler is long. is shorter than

A. Her; mine B. Hers; my

C. Hers; me D. Hers; mine

My sister Lily is good swimming.

A. at B. under

C.on D. of

— a year does your mother come back home?

— Once a year.

A. How often B. How soon

C. How long D. How many times
Always remember to put such dangerous things as knives out of children’s

A. touch B. sight

C. reach D. distance

The basketball team of our school ranks in the match.
A. three B. third

— 145—

C. the three D. the third

( ) 8. Miss Smith, I can’t follow you. Would you speak a little more

A. slowly B. politely
C. softly D. seriously

( ) 9. Students should be encouraged to finish their homework
A. of themselves B. of their own
C. for their own D. on their own

( ) 10. —Shall I inform him of the change of the schedule right now?

—1 am afraid you , in case he comes late for the meeting.
A. will B. must
C. may D. can

ZUBS MR (ARKBTIL 10 /M, B/ 2 47,4 20 43)
A B.C =SRR8 Y R0, AL 2 sOR R T4 .
Part A

11. 1 bought this ticket to watch a match on January 12.

12

m.or': PM

A. baseball B. football C. basketball
12. Where is SAFARI HOMES?

Street 48

Scc 277 -287 A}

5AFARI HOMES

A. On Street 277, B. On the second floor.

C. Room 48.
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13. Tom ordered a fruit salad and cream. Mary ordered a chocolate ice cream. They should

pay £ altogether.
'DESSERTS
Fruit salad and cream £2.25
Ice cream £2.00
(choose from chocolate, coffee, or lemon)
Lemon cake £2.25
Chocolate cake £2.25
\Cheese and biscuits £2.50
A4 B. 4. 25 C.5
14. If you are driving a car, you should during the construction.

SORRY !

® WE'RE UNDER CONSTRUCTION @

A. get through quickly B. get through slowly
C. turn to another way

15. The sign tells us .

| CAUTION

SHUT OFF
MACHINE WHEN
NOT IN USE

A. to shut off the machine
B. not to use the machine
C. to use the machine

16. You can see the following sign in a

— 147—

[PLEASE]|

FLUSH TOILET
AFTER USING

A. public bathroom

17. What is the cable used for?

A. Managing data.

B. Sending information.

B. sitting room

C. Putting electricity into the phone.

Part B
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18. What happened to the dog in the poster?
A. Tt is lost. B. Tt will be sold.
C. It is found.
19. Which of the following statements is true?
A. The dog is found now. B. The dog is male.
C. The dog is one year old.
20. If you find the dog, how can you contact the owner?
A. To write a letter.
B. To send an e-mail to the owner.,
C. To dial the number at 123-123-456 * .
= ENEIERE (A K@ 10 /M3, B/ANE 3 4,30 4)
B B2 T A0S0, NN 25 19 AL BLCLD PUAS 85 B 30T v 1 Hh e A e . i B 2 R iR 1B 4
Jeor.

Dear Sir or Madam,

One of the teachers at my school in New York tells me that your school has summer
courses. I am planning to go to Beijing next summer and would like to take a short one-month
course.

I am 18 years old and have been studying Chinese for six years. I was born in the USA and
have never been to China before. 1 am going to study Chinese at the university. I think the
course will help me improve my Chinese.

Could you send me a catalogue( H %) and an application form (H & )? I would also like
information about Beijing and other places nearby. I hope to do some travelling when the course
is over,

Thank you! I am looking forward to your reply.

Very truly yours,

Jim Green

21. Jim Green is a student from

A. America B. China

C. Canada D. Australia
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22. He was twelve years old when he started to

A. go to school B. learn Chinese
C. study in China D. travel in Beijing
23. How many times has he been to China before?

A. Once. B. Twice.
C. Many times. D. Never.
24. He will come to China next summer to .

A. improve his Chinese B. visit friends
C. look for jobs D. teach summer courses
25. He will probably after the summer course.
A. graduate from university B. work in this school
C. take a trip in Beijing D. post his application form
B

Tom and his cousin took a boat trip. When they got on the boat, every passenger (%)
should answer the keeper a question. If the passenger answered “yes”, he or she got one gift; if
the passenger answered “no”, he or she got two gifts. Tom and his cousin saw all about this.
Now it was their turn. The keeper came up to them and asked, “Are you a good sailor?” Tom
wanted to get two gifts, so he answered “no” loudly, at the same time he said, “I have never
been a sailor, how could I be a good sailor. ” The keeper gave him two gifts. His cousin gave the
same answer, so he got two gifts, too.

The boat started off. The passengers began to open their gifts. Tom and his cousin did the
same. They found that one of the two gifts was a small bottle of drinking water, the other was a
seasick tablet(Z52%4). Tom had a look at a “yes”-passenger’s gift. His was a nice chocolate.
Tom shouted at the keeper, “We are never seasick. Why do you give us seasick tablets?”

26. Tom and his cousin

A. went to eat chocolate
B. went on a trip by boat
C. worked for the keeper
D. needed a bottle of drinking water

27. When did the keeper ask the passengers questions?
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A. Before the trip. 35. No matter how he explained, she was still angry.

B. After the trip.

C. During the trip. 36. God helps those who help themselves.
D. Never.
28. Why did Tom and his cousin answer “no”? 37. We should be ready to help those in trouble.

A. Because they felt sick on the boat.

B. Because they were good sailors. 38. The lights suddenly went out when we were having dinner.

C. Because they both wanted to get two gifts.

D. Because they wanted to have chocolate. 39. They are about to start when it starts to rain.

29. The underlined(FRIZk) part “a good sailor” means

A. R B. NEHE 40. 1 haven’t seen my cousin for many years, so I hardly recognize him.

C. b i D. 7K

30. Which of the following statements is true?
A. The keeper cheated(#(3#) Tom and his cousin.
B. Tom and his cousin didn’t understand the question.
C. All the other passengers answered “yes”.

D. The keeper didn’t want to give Tom and his cousin chocolate.

5 1 & 3k 30 43)
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31. Take this exit when there is any danger.

32. It is impossible to satisfy all your demands.

33.It’s a useful book, and what’s more, not an expensive one,

34. Two accidents happened at the same time,
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